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Answer all the following
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There are 35 workers in a company. Each of 17 workers earns Rs. 3,000 per year;
each of 11 workers earns Rs. 4,000 yearly; each of 4 workers earns Rs. 6,000
yearly; each of 2 workers earns Rs. 7,000 yearly and the remaining workers earn
Rs. 10,000 yearly. Find the A.M and the Median of the earned income.
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Mr. Ghosh wants to invest Rs. 10,000 in one of the two companies A or B. The
average return in a year from Company A is Rs. 16,000 with standard deviation
of 125 whereas the average return from Company B in a year is Rs. 20,000 with a
standard deviation of 200. Which company will you recommend to Mr. Ghosh for
investment? Justify your answer.
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Calculate the price index numbers by (i) Paasche’s method (ii) Laspeyre’s
method.
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Base year Current year

Commodities

15%4 = 60

4+4+7

Price (Rs.)

Quantity (kg.)

Price (Rs.)

Quantity (kg.)

A

20

8

40

6

50
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20

20

20

15

Turn Over



UG/CBCS/B.Com./Programme/4th Sem./Commerce/COMDSC8/2021

2. (@ f(x) =2x+1whenx>1 5+5+5
=3, whenx=1
=2x—1,whenx <1
Examine the continuity of f(x) atx=1( f(x) 9% 7=| < T9)

(b) The profit function for a particular company is given by P(x)=x—0.00001x?,

where x stands for the number of units sold. Find the optimal sales volume and
the amount of profit to be expected at that value.
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(c) Evaluate (ETR F9)
x*+4x-5
x—1

lim

x—l

3. (a) Explain the concept of correlation between two variables. What is intended to (3+2+4)+6
measure through correlation? Mention the properties of correlation coefficient.
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(b) Find the liner regression equation of y on x for the following data:
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x|41[45|50 68|47 |77 |90
y |60 43|60 |48 85|56 |53

4. (a) Solve, using matrix inverse method: 8+7
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X+2y—z=2
3x—4y+2z=1
—x+3y—-z=4
2

(b) If y=t*+¢ and x=1—¢", find Z’{
x

4170 2



